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UCNI LIST - Potence z racionalnim eksponentom

IzraCunaj:
a) 25°-3-8+(0,2)" = d) 16°-(0,1)"-243° +(1) "=
b) 2187%-(5-(—4)0—9’2)= e) 1252 (01)"-Y29+0 =
¢) 8 (-1)°+$35-4B1= f) 64%-(—1)9—(—5)3-(80—25‘%):
IzraCunaj:
a) 16%-2° 322+ 25 = d) 32°%-(-2)'-25" (10°-125%) -
b) 2401 -(3-(-2)’-77)= e) Y647 (0,2~ 4199 =
¢) ¥—125-8' —4[7+JB1 = f) 4256-(4)F 1258 47 =
Izracunaj:
a) 128"((-1) +27)-5"-(-9)" = d) 216°-((-1)f +37)-2°(-5)’ =
b) 32%-(0,5)‘2—34-((—1)9—9°)= ) 9987 16! -7 =
0 125'(-1)' ~(-2)"+(20°-16 )= f (-4) 167 (-3 (8 +0,42(-2))
IzraCunaj:
a) 416 -(—2)’2—13/(—5)2—2-(—1)7 = d) 2187%—42-(670—\/% —0,5*3):
b) (64)7:0,0087 +4/91 -2 = &) 167-(-1)' ~(-5)"(10°+(3) ") -
) 8.22-\J25-1+478+327 = f) 125%-(—1o)°—(—4)3-((—1)8—2*2)=
Izracunaj:
Q) (-3)" (1) +(-5)" (416" +7° -128-27) -
) (-2)(-1)" +125° (Y27 -8 -512.2°) -
¢) 21877-3° -6 .(\/41—3/1_5 —(—1)5)—384-8‘2 =
d) (-5)°-(-1)°+(-3)" .(32% 450 27.372) -
e) 65613-92—62-(4/87—%/2 6 —(—1)7)—384-43:
f) 647 ((-0)-7°)+(-5) (\E .3 —14-(0,4)‘1) _
Resi enacbo:
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RESITVE UCNEGA LISTA - Potence z racionalnim eksponentom
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